
Standard Derivatives Matching Activities 

*needs to be cut out. This is the solution. The Third Page contains 20 incorrect derivatives 

 
𝒇(𝒙) =  𝒔𝒊𝒏(𝒙) 

 

 
𝒇′(𝒙) =  𝒄𝒐𝒔(𝒙) 

 

 
𝒇(𝒙) =  𝒄𝒐𝒔(𝒙) 

 

 
𝒇′(𝒙) =  −𝒔𝒊𝒏(𝒙) 

 

 
𝒇(𝒙) =  𝒕𝒂𝒏(𝒙) 

 

 

𝒇′(𝒙) =  𝒔𝒆𝒄𝟐(𝒙) 
 

 
𝒇(𝒙) =  𝒔𝒆𝒄(𝒙) 

 

 
𝒇′(𝒙) =  𝒔𝒆𝒄(𝒙)𝒕𝒂𝒏(𝒙) 

 

 
𝒇(𝒙) =  𝒄𝒐𝒔𝒆𝒄(𝒙) 

 

 
𝒇′(𝒙) =  −𝒄𝒐𝒔𝒆𝒄(𝒙)𝒄𝒐𝒕(𝒙) 

 

 
𝒇(𝒙) =  𝒄𝒐𝒕(𝒙) 

 

 

𝒇′(𝒙) =  −𝒄𝒐𝒔𝒆𝒄𝟐(𝒙) 
 

 
𝒇(𝒙) =  𝒆𝒙 

 

 
𝒇′(𝒙) =  𝒆𝒙 

 

 
𝒇(𝒙) =  𝒍𝒏(𝒙) 

 

 

𝒇′(𝒙) =  
𝟏

𝒙
 

 

 
𝒇(𝒙) =  𝒂𝒙 

 

 
𝒇′(𝒙) =  𝒂𝒙𝒍𝒏(𝒂) 

 
 

𝒇(𝒙) =  −𝒔𝒊𝒏(𝒙) 
 

 
𝒇′(𝒙) =  −𝒄𝒐𝒔(𝒙) 

 
 



 
𝒇(𝒙) =  −𝒄𝒐𝒔(𝒙) 

 

 
𝒇′(𝒙) =  𝒔𝒊𝒏(𝒙) 

 

 
𝒇(𝒙) =  −𝒕𝒂𝒏(𝒙) 

 

 

𝒇′(𝒙) =  −𝒔𝒆𝒄𝟐(𝒙) 
 

 
𝒇(𝒙) =  −𝒔𝒆𝒄(𝒙) 

 

 
𝒇′(𝒙) =  −𝒔𝒆𝒄(𝒙)𝒕𝒂𝒏(𝒙) 

 

 
𝒇(𝒙) =  −𝒄𝒐𝒔𝒆𝒄(𝒙) 

 

 
𝒇′(𝒙) =  𝒄𝒐𝒔𝒆𝒄(𝒙)𝒄𝒐𝒕(𝒙) 

 

 
𝒇(𝒙) =  −𝒄𝒐𝒕(𝒙) 

 

 

𝒇′(𝒙) =  𝒄𝒐𝒔𝒆𝒄𝟐(𝒙) 
 

 
𝒇(𝒙) =  −𝒆𝒙 

 

 
𝒇′(𝒙) =  −𝒆𝒙 

 

 
𝒇(𝒙) = − 𝒍𝒏(𝒙) 

 

 

𝒇′(𝒙) =  −
𝟏

𝒙
 

 

 
𝒇(𝒙) =  −𝒂𝒙 

 

 
𝒇′(𝒙) =  −𝒂𝒙𝒍𝒏(𝒂) 

 
 

 

 

 

 

 

 

 

 



 

 

𝒇′(𝒙) =  𝒙𝒆𝒙−𝟏 
 

 

𝒇′(𝒙) =  −𝒙𝒆𝒙−𝟏 
 

 
𝒇′(𝒙) = 𝒕𝒂𝒏(𝒙) 

 

 
𝒇′(𝒙) =  −𝒄𝒐𝒕(𝒙) 

 

 
𝒇′(𝒙) =  𝒂𝒙𝒍𝒏(𝒙) 

 

 
𝒇′(𝒙) =  −𝒂𝒙𝒍𝒏(𝒙) 

 

 
𝒇′(𝒙) =  𝒔𝒆𝒄 

 

 

𝒇′(𝒙) =  −𝒔𝒆𝒄 
 

 

𝒇′(𝒙) = −𝒕𝒂𝒏(𝒙) 
 

 
𝒇′(𝒙) =  𝒄𝒐𝒕(𝒙) 

 

 
𝒇′(𝒙) =  𝒄𝒐𝒔𝒆𝒄 

 

 
𝒇′(𝒙) =  −𝒄𝒐𝒔𝒆𝒄 

 

 
𝒇′(𝒙) =  𝒔𝒆𝒄(𝒙)𝒄𝒐𝒕(𝒙) 

 

 

𝒇′(𝒙) =  −𝒔𝒆𝒄(𝒙)𝒄𝒐𝒕(𝒙) 
 

 
𝒇′(𝒙) =  𝒄𝒐𝒔𝒆𝒄(𝒙)𝒕𝒂𝒏(𝒙) 

 

 

𝒇′(𝒙) =  −𝒄𝒐𝒔𝒆𝒄(𝒙)𝒕𝒂𝒏(𝒙) 
 

 
𝒇′(𝒙) =  𝒂𝒙 

 

 
𝒇′(𝒙) =  −𝒂𝒙 

 

 

𝒇′(𝒙) =  𝒙𝒂𝒙−𝟏 
 

 

𝒇′(𝒙) =  −𝒙𝒂𝒙−𝟏 
 

 


